Technical Summary
SEG60FXA-Fixed arms(60cm)

Q@@@QQ@@@Mj@/
So00o000000000 /

o = QQQW

oF
)

————2I— ic>>-——_ oo = QQQW

B

COMPONENT CHECKLIST

ltem Name QTY
B Fixed Bracket 2
A1 M5X15 Screw 4
A2 M6X15 Screw 4
A3  M8X25 Screw 4
A4  P16xP6.2x1.5 Washer 4
A5 M8X45 Screw 4
A6  P16xP8.2x1.5 Washer 4
A7  P13xP8.2x13 Washer 4

INSTALLATION INSTRUCTION

PRODUCT DIMENSIONS
S
=)
% £
. o
of v
9} N
[e) ~
o
o
o
o
0
o
o
o
o
o
0
&
s}
5}
o
5}
g el
o 0 ©
- Rk 3
5 g1, E
1o} € ©
€ S o I
S ©
g U
|
£
©
<
33mm[1.3"] 35mm[1.4"]

1. Attach brackets to display

2. Mount display on rail

Page 1 of 1



